50

=1

S

X

T

5000

K A-4. 2m2
BKR A2 8m2

“#Lavsy—ti188

BT (F#A13 t-5m)|

B8 T (RC-40_t-10cm),

-40)_t=15cm!

SLERRE (RC-40_t-20cn)

2300

4500

BHASBL A0 1m2

{H-1200 B-1800 L-1000 T-25}

Ky I ZAHn—+ L=6000

S=1

X

[i:1]

1000

M2

/
2 °F T B

100

=1

S

T

=
gt

w

w B

o -

[32]

2 8

% ¥ X E
Sal I =
A i -
4 ®

2 = m
w2 2
« = w
% = L
& £

B %

® =

=

&

=

W w o ¥ | ¥
| B o o o
HiB| & 8 & g




AT L 5105 A—-A’

150 1800 _ 150
3 B
/ AN
v ] ] - A
h 2
e 0|
|
e | \18-8-25
AN 7 1
7110
us
Al '
&) I -]
hod. L

B 2300

T gl
'_ ______
|
|
: ; 1100 _
|
|
——————————— TES HEBABERAXHNS EBREFQLBESTX
HEHEE SR ELA P IBBER TS
BE 3% fil 7% (U-600) 5 T % BT TkE
———————————— L - — - — e s$EAH
P — -
L ______ =3
) 1960 _ N )
< > EEFRS 3 ST SOOLE |




BEDIET s-1.5 8T s-1 50

A-A’

2900 -

1300

00
e
T
s
i
i
™3
=

570

11710
Li@.l < 1300 :"] [ \iﬁiﬁﬂim_%&_
— I

B-—B ’ | 5000 -- _:‘

250 4500

N

3 ,-esg}
¥ / H—FNL THERIA L=4. 0m

# _Gp-Cp-2

Mm@

N
\

BIBHT S k¥

HL2HABERERXNTE BRRAFMLLBEBX

TH=& HHINEA G RELPIBER TS
Em & WEWMBETLT, % T

f£AH

® R B 7 EmES 3
=&

RERB BERW dEBmFANMR




